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1. A PO =(3,-2) » OR=(4,-3) » RS =(1,0) + QI ESP Fyfl 2

(A) (-8,5) (B) (5.-8) (C) (-5.8) (D) (8,-5)
x>0
2. 0 — KB AFES xijgs’ AR T - RRER T (X, y) =5X+ 6y BRI A(E Ry (] 2
2X+y<4
(A) 17 (B) 18 (C) 19 (D) 20
3. 3 A(2,3) » B(0,-1) » C(-1,k) - # C KBt AB YT FL FA0A5 i Bl » HITK Fufir 2
(A) =3 (B) -2 O1 (D) 2
4. AP E ERAEE AQL3) - B(04) - HlmE BYRAE R 2
(A)O (B) V2 (C) V8 (D) /26
5. FFIAEE f(X) =X +5x% + x—10 K= 2
(A) x+1 (B) x-1 (C) x-2 (D) x+2
6. THlmEHAE Ry AL MR ?
11 1
(A) (0,-1) (B) (5,5) ©) 1.1 (D) (2,5)
7. BIFE @ =(5t,3) » 5=(60,-9) » F(a +7 )8 (g -7 ) VT » AltRfr 2
(A) -5 (B) -4 (€)0 (D)5
8. B JTHZR 2x° — X2 ~Bx—2 = 0FIR + FHIRGHRATH IEHE 2
(A) =R HRIRAESE (B) =HRAYATR -1
(C) =iRAVaFfy 1 (D) =R MR Fy —2

9. {LfE /128 — /98 + /200 & #iti 5 ] 2
(A) 11 (B) 1142 (©) \230 ©) 22

10. 2L, :kx+y-3=0 » L,:x+ky+3=0 Gk FyHeh) - 251, ~ L, iEsES » Bk R 2
(A) -1 (B) 1 (C)3 (D)9

11, SE P E R X+6y—2=0E1 3x+4y -6 =0y BHG B % x—y =0 FITHY B #5 T FE =K
FRofr] 2
(A) x—-y+2=0 (B) x—y-1=0 (C) x—-y-2=0 (D) x—y+3=0

12. A TEMEL :3x+4y—3=0 + L,:6x+8y+9=0 [AYREREE {a] 2
1 3
A5 (B)1 ©) 3 (D)3
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17.

18.

19.

20.

21.

22.

HEFEH  #ER(D)

X+y=>0
13, AR HE | e —RIRLAFER A x—y <0 FrERE = AP s i R inl 2
2X+3y <5

(A) B)1 CF (D)5

2 2
AR EIYELCEES (0,0) » Hi@miE: (3,4) - HIERFEA A 2
(A) xX*+y*=5 (B) x*+y*=10 (C) x*+y*=20 (D) x*+y*=25
FRE X +y? —2x+2y+k =0 (b k Ry BB E AR x—2 =04HY] » Ak Faff 2
(A) -1 (B)O ©)1 (D) 2
% A(1,0) > B(3,0) » C(-1,2) -HJ LCAB Z BE#U Ry 2
(A) 120° (B) 135° (C) 150° (D) 160°
aSEmEmEEA B C_E%E#%? » HEVAHIEE B 7E4RES AC |- - ZAAE 1Ry A(a,b) »
B(-3,3) » C(L,1) 'E%=% CHla ~ b Ak ?
(A) a=-11,b=7 (B) a=-7,b=7 (C) a=-5,b=4 (D) a=-4,b=5
R Y = f(X)=ax’ +bx+c BEIEAYTHE B (1,3) HA y #ili A 85 (0,1) - HIR%a -~ b
ZAH 0 R[5 IERE 2
(A) a=-2,b=4 (B) a=-1,b=2 (C) a=1,b=-2 (D) a=2,b=4
- e, . . 3 sin A .
HHEA=AE ABC 2 £C BEMAHSINB== "> ] ZAE Fyfr 2

5 1+cosA

1 1 27 32
W3 G © 55 © =
cos(- ) ikl 2

e 1 1 e
(A) Y (B) > (®) > (D) EX
T T . 3 12 ) N
ax5<a<7z ’ 0<'B<E ’ sma:g ’ tanﬂzg » Bisin(a + B) ZAH B fr] 2
56 33 16 63

(A) o5 (B) 65 €) & (D) &
%sinecow:% » Hij tan @+ cot @ 2B By fr] 2

11 18 18
(A) T B)1 (€) 11 (D) =
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23. CUHIEG P(a—b, ab) FEABESEHEINYERPYSRIR » B RYIRGI A5 IEHE 2
(A) A@,—b) fE5— IR (B) B([ab|. ) T3S
(©) C(5 .~ b) tE5 =2 (D) D(; . b—a) fE5PE
24, %%<9<ﬁﬁsin6:§ » Hiltan 20 2 B B fr] 2
24 3 3 24
(A) = (B) ) (®) 2 (D) £
25. Z f(X)=x"+5x°+x-1>g(x)=x>-2 H f(X) BLL g(x) By =C s ax+b (a, b i E) » Hi

2a —3b Jufa] 2
(A) —27 (B) -7 (C)5 (D) 13
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